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K= (o)™, (C.17)
Kt = (8,57 + wol) ™, (C.18)
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O C.3: Change at ITER=10.

block I€ ——

o—
20 40 60 80 100 120 140 160 180

Number of Iterations
:

ICtosSC ——

SCtoCC -------

\\ SCIOIC -
20 40 60 80 100 120 140 160 180

ICtoSC ——
SCtoCC - -

\ SCtoIC -

20 40 60 80 100 120 140 160
Number of Iterations

0 C.4: Change at ITER=30.

Relative Residual 2-Norm

Relative Residual 2-Norm

Relative Residual 2-Norm

-10

-12

14

-10

-12

14

-10

-12

14

83

ICtoSC
SCtoCC --
SCIoIC -

Number of Iterations

O C.7: Change at ITER=70.
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